
MATHS

BOOKS - BITSAT GUIDE

DEFINITE INTEGRALS AND ITS APPLICATIONS

Practice Exercise

1.  is equal to

A. 

B. 0

C. 

D. 

Answer: C

∫
π / 2

0

dx
tan2 x

1 + tan2 x

∞

π

4

π

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ERTC90E7GPvU


Watch Video Solution

2. Let . If  then

one of the possible value of k is

A. 15

B. 16

C. 10

D. None of these

Answer: B

Watch Video Solution

F (x) = , x > 0
d

dx

esin x

x
∫

4

1
dx = F (k) − F (1)

2xesin x2

x2

3. If

,

then

l1 ( n ) = ∫
π / 2

0
dx and I2 ( n ) = ∫

π / 2

0
dx, n ∈ N

sin(2n − 1)

sinx
sin2

nx

sin2 x

https://dl.doubtnut.com/l/_ERTC90E7GPvU
https://dl.doubtnut.com/l/_93kWips1SqqH
https://dl.doubtnut.com/l/_7Rwv9mPUvtAC


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

I2 ( n+ 1 ) − I2 ( n ) = I1 ( n )

I2 ( n+ 1 ) − I2 ( n ) = I1 ( n+ 1 )

I2 ( n+ 1 ) + I1 ( n ) = I2 ( n )

I2 ( n+ 1 ) + I1 ( n+ 1 ) = I2 ( n )

4.  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 4

0

(√tanx + √cot x)dx

√2π

π

2

π

√2

2π

https://dl.doubtnut.com/l/_7Rwv9mPUvtAC
https://dl.doubtnut.com/l/_SxMnsgdI0GUC


5.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
sin(2 tan− 1 √ )dx

1 + x

1 − x

π/6

π/4

π/2

π

6.  is equal to

A. 

B. 

C. 

∫
π / 4

0

dx
sin2 x. cos2 x

(sin3 x + cos3 x)
2

1

6

1

12

1

4

https://dl.doubtnut.com/l/_SxMnsgdI0GUC
https://dl.doubtnut.com/l/_vHVF0k25tkpP
https://dl.doubtnut.com/l/_qmMtVZ2rJlok


D. 

Answer: A

View Text Solution

1

24

7. The value of  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
π / 4

0

dx
sinx + cos x

cos2 x + sin4 x

1

2

log((√3 − 1))

√2

log( ) +
1

2√3

√3 + 1

√2

π

4

log( ) +
1

2

√3 + 1

√2

π

4

log( ) +
1

√3

√3 + 1

√2

π

4

https://dl.doubtnut.com/l/_qmMtVZ2rJlok
https://dl.doubtnut.com/l/_AsALtzCeKrDl


8. The value of  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫
2π

0

ex sin( + )dx
π

4
x

2

(e2π + 1)
√2

5

− (e2π + 1)
√2

5

(e2π − 1)
−√2

5

(e2π − 1)
√2

5

9. If  and 

, then the possible values of k is

A. 27

B. 18

C. 9

ϕ' (x) = , x ≠ nπ, n ∈ I
log sinx

x

∫
3

1

dx = ϕ(k) − ϕ(1)
3 log(sinx3)

x

https://dl.doubtnut.com/l/_nvQDnCU89GXG
https://dl.doubtnut.com/l/_D2xXxsBdFiy7


D. 36

Answer: A

View Text Solution

10. The value of , where , is

A. 1

B. 0

C. 3

D. 4

Answer: B

View Text Solution

∫
5

3
ef [ϕ ( x ) ] . f' [ϕ(x)]  ϕ' (x)dx ϕ(3) = ϕ(5)

11.  is equal to∫
π / 2

0

dx

sin(x − )sin(x − )π

3
π

6

https://dl.doubtnut.com/l/_D2xXxsBdFiy7
https://dl.doubtnut.com/l/_IJTyOZUWLfbK
https://dl.doubtnut.com/l/_dWFUjXO5DJZZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4 log √3

−4 log √3

2 log √3

−2 log √3

12.  is equal to

A. log2

B. 2 log2

C. 3 log2

D. 4 log2

Answer: C

Watch Video Solution

∫
2

− 2

dx

1 + |x − 1|

https://dl.doubtnut.com/l/_dWFUjXO5DJZZ
https://dl.doubtnut.com/l/_Z6PJodiPoIBX


13. The value of : , is

A. 0

B. 2

C. 1

D. None of these

Answer: B

Watch Video Solution

5π / 6

∫

π / 6

√4 − 4 sin2 tdt

14. The integral  denotes the greatest integer

less than or equal to x, is equal to

A. 

B. 

∫
1.5

0
[x2]dx,  where [x2]

2 + √2

2 − √2

https://dl.doubtnut.com/l/_Z6PJodiPoIBX
https://dl.doubtnut.com/l/_Yby2gJqk8cx7
https://dl.doubtnut.com/l/_03UpC14K2WQV


C. 1.5

D. None

Answer: B

View Text Solution

15. Let a, b and c be non - zero real numbers such that

 , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
3

0
(3ax2 + 2bx + c)dx = ∫

3

1
(3ax2 + 2bx + c)dx

a + b + c = 3

a + b + c = 1

a + b + c = 0

a + b + c = 2

https://dl.doubtnut.com/l/_03UpC14K2WQV
https://dl.doubtnut.com/l/_IrcQnXzCXFjA
https://dl.doubtnut.com/l/_Qa0BP4Dab7nR


16. The value of integral  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n

∑
k= 1

∫
1

0
f(k − 1 + x)dx

∫
1

0

f(x)dx

∫
2

0

f(x)dx

∫
n

0

f(x)dx

n∫
1

0

f(x)dx

17. If  then for any  is equal to

A. 

B. 

C. 

D. 

∫
x

− 2

|2t|dt = f(x), x ≥ 0, f(x)

4 + x2

4 − x2

(4 + x2)
1

2

(4 − x2)
1

4

https://dl.doubtnut.com/l/_Qa0BP4Dab7nR
https://dl.doubtnut.com/l/_nIW7E6bXUswS


Answer: A

View Text Solution

18. The correct evaluation of  is

A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

∫
π / 2

0

∣
∣sin(x − )∣

∣dx
π

4

2 + √2

2 − √2

−2 + √2

19.  is equal to

A. 1

∫
π / 2

π / 2
dx

cos x

1 + ex

https://dl.doubtnut.com/l/_nIW7E6bXUswS
https://dl.doubtnut.com/l/_pA6xFYx1HdsL
https://dl.doubtnut.com/l/_jHq78qukhHmV


B. 0

C. 

D. None

Answer: A

Watch Video Solution

−1

20. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
7π / 3

7π / 4

√tan2 xdx

log 2√2

log 2

2 log 2

log √2

https://dl.doubtnut.com/l/_jHq78qukhHmV
https://dl.doubtnut.com/l/_oJ2l8sIwmcz0


21. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3

1
|(x − 1)(x − 2)(x − 3)|dx

1

3

1
2

9

4

9

5

22. 
 
(b) 
(c) 0
(d) 

A. 0

B. 

C. 

D. 

∫
1

0

|sin 2πx|dxisequa < o
1

3

1
2

2

π

−
1

π

1

π

2

π

https://dl.doubtnut.com/l/_fNjo1JF7Oqa2
https://dl.doubtnut.com/l/_qMv6yP7QTEsk


Answer: D

Watch Video Solution

23. The value of  is

A. 

B. 

C. 

D. None

Answer: A

View Text Solution

∫
π / 2

0

dx
ψ(x)

ψ(x) + ψ( − x)π

2

π/4

π/2

π

24. Evaluate: 

A. 

∫
1

0

cot − 1(1 − x + x2)dx

π − log 2

https://dl.doubtnut.com/l/_qMv6yP7QTEsk
https://dl.doubtnut.com/l/_FnXEaXTWji27
https://dl.doubtnut.com/l/_BoUaFkkbR5kt


B. 

C. 

D. 

Answer: B

Watch Video Solution

π/2 − log 2

π + log 2

π/2 + log 2

25. The value of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π

−π

dx, a > 0
cos2 x

1 + ax

π

aπ

π/2

2π

https://dl.doubtnut.com/l/_BoUaFkkbR5kt
https://dl.doubtnut.com/l/_Ac5lTjQRNVqh
https://dl.doubtnut.com/l/_oBJbRw7Ivdwu


26. If f and g are continuous functions in [0,1] satisfying

, then 

is equal to

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

f(x) = f(a − x)   and   g(x) + g(a − x) = a ∫
a

0
f(x). g(x)dx

a

2

∫
a

0
f(x)dx

a

2

∫
a

0
f(x)dx

a∫
a

0
f(x)dx

27. The value of  is

A. 1

B. 

C. 0

∫
π

0
ecos2 x cos5 3xdx

−1

https://dl.doubtnut.com/l/_oBJbRw7Ivdwu
https://dl.doubtnut.com/l/_blCT89vRQ1oC


D. None

Answer: C

View Text Solution

28. The value of , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

dx,  where k ∈ I
sin 2kx

sinx

π

2

π

3π

2

0

29.  is equal to∫
1 / 2

− 1 / 2

(cos x)[log( )]dx
1 − x

1 + x

https://dl.doubtnut.com/l/_blCT89vRQ1oC
https://dl.doubtnut.com/l/_2v1a6LJuo0UP
https://dl.doubtnut.com/l/_JwJMR9FTofvT


A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

^ (1/2)

2e1 / 2

30. Evaluate the following: 

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1
dx

sinx − x2

3 − |x|

dx
∫ sin x

0

3 − |x|

2∫
1

0

dx
−x2

3 − |x|

2∫
1

0

dx
sinx − x2

3 − |x|

https://dl.doubtnut.com/l/_JwJMR9FTofvT
https://dl.doubtnut.com/l/_UwailrDftLsC


Watch Video Solution

31.  is equal to

A. In 2

B. 2 In 2

C.  In 2

D. 4 In 2

Answer: B

Watch Video Solution

∫
1

− 1

dx
x3 + |x| + 1

x2 + 2|x| + 1

1

2

32.  is equal to

A. 

B. 

C. 25

∫
π / 2

−π / 2
sin10 x(6x9 − 25x7 + 4x3 − 2x)dx

π

0

https://dl.doubtnut.com/l/_UwailrDftLsC
https://dl.doubtnut.com/l/_inrY8shCFvw5
https://dl.doubtnut.com/l/_2n6J1cAUzS2S


D. 

Answer: B

Watch Video Solution

π

2

33. If f and g are two continuous function, then the value of

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 4

−π / 4
{f(x) + f( − x)}{g(x) − g( − x)}dx

π

4

0

−
π

4

π

https://dl.doubtnut.com/l/_2n6J1cAUzS2S
https://dl.doubtnut.com/l/_BIQRRohUsfnC


34. If  then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P = ∫
3π

0
f(cos2 x)dx and Q = ∫

π

0
f(cos2 x)dx

P − Q = 0

P − 2Q = 0

P − 3Q = 0

P − 5Q = 0

35. 
 for all 
 is

a function for which 
is equal to
125 (b)


 
(d) 

A. 

B. 

Iff(2 − x) = f(2 + x)andf(4 − x) = f(4 + x) xandf(x)

∫
2

0
f(x)dx = 5, then∫

50

0
f(x)dx

∫
46

− 4
f(x)dx ∫

51

1
f(x)dx ∫

52

2
f(x)dx

125

∫
46

− 4
f(x)dx

https://dl.doubtnut.com/l/_BqcQ8RuduLlK
https://dl.doubtnut.com/l/_fqyT9jBL1UHI


C. 

D. 

Answer: A

Watch Video Solution

∫
51

1
f(x)dx

∫
52

2
f(x)dx

36. If , then

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

l1 = ∫
2

1
and I2 = ∫

2

1

dx

√1 + x2

dx

x

l1 > l2

l2 > l1

l1 = l2

l1 > 2l2

https://dl.doubtnut.com/l/_fqyT9jBL1UHI
https://dl.doubtnut.com/l/_7PK7rI0DJ41Q


37. If  is equal to

A. sin 1

B. 2 sin 1

C.  sin 1

D. None

Answer: C

Watch Video Solution

ϕ(x) = ∫
√x

1 /x

sin(t2)dt  then ϕ' (1)

3/2

38. Let . Then the real roots of the equation 

 are

A. 

B. 

C. 

f(x) = ∫
x

1

√2 − t2dt

x2 − f' (x) = 0

±1

±1/√2

±1/2

https://dl.doubtnut.com/l/_vyyECWGfiFLe
https://dl.doubtnut.com/l/_iutCxiln1aLZ


D. 0 and 1

Answer: A

Watch Video Solution

39. If F(x)  then F'(4) equals

A. 32

B. 

C. 

D. None

Answer: C

Watch Video Solution

=

x

∫

4

[4t2 − 2F ' (t)]dt
1

x2

32

3

32

9

https://dl.doubtnut.com/l/_iutCxiln1aLZ
https://dl.doubtnut.com/l/_TCcSqKTpuqko


40. If 
 is differentiable and 
 then 

equals
 
(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) ∫
t2

0

xf(x)dx = t5,
2

5
f( )

4
25

2

5
−

5

2
1

5

2

2

5

−
5

2

1

5

2

41.  equals

A. e

B. 

C. 1

lim
n→ ∞

(r)1 /n

n

e− 1

https://dl.doubtnut.com/l/_aEgSHXOZ8M1F
https://dl.doubtnut.com/l/_1LHST6lLh70X


D. None

Answer: B

Watch Video Solution

42. The value of

is

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

lim
n→ ∞

( + + +
n

(n + 1)√2n + 1

n

(n + 2)√2(2n + 2)

n

(n + 3)√3(2n + 3)

π

3

π

2

π

4

https://dl.doubtnut.com/l/_1LHST6lLh70X
https://dl.doubtnut.com/l/_scvOShTO10C5
https://dl.doubtnut.com/l/_xv4tu4R70tSh


43.  is, equal to

A. 3 log 2

B. log 2

C. 2 log 2

D. 4 log 2

Answer: B

Watch Video Solution

lim
n→ ∞

{ + + + ... + }
1

n + 1

1

n + 2

1

n + 3

1

n + n

44.  is equal to

A. 

B. 

C. 

D. 

lim
n→ ∞

[ + + + ... + ]
1

n

n2

(n + 1)3

n2

(n + 2)3

1

8n

3

8

1

4

1

8

1

2

https://dl.doubtnut.com/l/_xv4tu4R70tSh
https://dl.doubtnut.com/l/_roAHJtcoa6YD


Answer: A

Watch Video Solution

45. Find the limit, when  of 





A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

n → ∞,

+
√n

(3 + 4√n)
2

√n

√2(3√2 + 4√n)
2

+ ... +
√n

√3(3√3 + 4√n)
2

1

49n

1

14

1

7

2

7

https://dl.doubtnut.com/l/_roAHJtcoa6YD
https://dl.doubtnut.com/l/_9QZ6bF84qTBC


46. The area of the region lying between the line  and the

curve , is

A. 9

B. 

C. 

D. None

Answer: C

Watch Video Solution

x − y + 2 = 0

x = √y

9

2

10

3

47. Area bounded by the curves  x-axis between 

 is

A. 

B. 

C. 

y = x sinx and

x = 0 and x = 2π

2π

3π

4π

https://dl.doubtnut.com/l/_8tPVzXNJE05X
https://dl.doubtnut.com/l/_IjDxAfDeCKK3


D. None

Answer: C

Watch Video Solution

48. The area bounded by the parabola , straight line  and Y-

axis, is

A.  sq units

B.  sq units

C.  sq units

D. None of these

Answer: B

Watch Video Solution

y2 = x y = 4

16

3

64
3

7√2

https://dl.doubtnut.com/l/_IjDxAfDeCKK3
https://dl.doubtnut.com/l/_OPLJOp62Hb5T


49. The area enclosed between the curves  and  is

A.  sq units

B.  sq units

C.  sq units

D.  sq units

Answer: C

Watch Video Solution

y = x3 y = √x

5

3

5

4

5

12

12

5

50. The area of the smaller segment cut off from the circle 

by x = 1 is

A. 

B. 

C. 

D. None of these

x2 + y2 = 9

(9 sec− 1 3 − √x)
1

2

sec− 1 3 − √8

√8 − 9 sec− 1 3

https://dl.doubtnut.com/l/_CKApHZ46Gnnx
https://dl.doubtnut.com/l/_mLVQYlkEkI4L


Answer: B

Watch Video Solution

51. Sketch the graph of and evaluate .

A. 9 sq units

B.  sq units

C. 3 sq units

D. 11 sq units

Answer: A

Watch Video Solution

y = |x + 3| ∫ − 60|x + 3|dx

9

2

52. If  makes positive intercepts of 2 and 1 unit on x and y-

coordinates axes and encloses an area of  sq unit with the axes, then 

 equals

y = f(x)

3

4

∫
2

0

xf' (x)dx

https://dl.doubtnut.com/l/_mLVQYlkEkI4L
https://dl.doubtnut.com/l/_GaamT41inojx
https://dl.doubtnut.com/l/_DsDYDQ1pZ6WX


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3

2

1

5

4

−
3

4

53. The area in the first quadrant between ,

is

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 = π2 and y = sinx

π3 − 8
4

π3

4

π3 − 16
4

π3 − 8
2

https://dl.doubtnut.com/l/_DsDYDQ1pZ6WX
https://dl.doubtnut.com/l/_S9v3whS7JX6Y


Watch Video Solution

54. Find the area of the region 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

{(x, y) : x2 + y2 ≤ 1 ≤ x + y}

π2

5

π2

2

π2

3

−
π

4

1

2

55. The area bounded by the curve y = In (x) and the lines

, is equal to

A. 3

B. 3 In (3) -2

y = 0, y = In(3) and x = 0

https://dl.doubtnut.com/l/_S9v3whS7JX6Y
https://dl.doubtnut.com/l/_oDOz0vg3yaXP
https://dl.doubtnut.com/l/_58qu2OTrgU8H


C. 

D. 2

Answer: D

Watch Video Solution

3In(3) + 2

56. The area under the curve , and above

x-axis is: (A)  (B)  (C)  (D) 

A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

y = |cos x − sinx|, 0 ≤ x ≤
π

2

2√2 + 2 0 2√2 − 2 2√2

2√2

2√2 − 2

2√2 + 2

https://dl.doubtnut.com/l/_58qu2OTrgU8H
https://dl.doubtnut.com/l/_uiOIFCbm5i8b
https://dl.doubtnut.com/l/_lHp3Jq0OSDZT


57. The area (in sqaure units) of the region enclosed by the curves

 and the positive x-axis is

A. 1 sq units

B.  sq units

C.  sq units

D.  sq units

Answer: B

Watch Video Solution

y = x, x = 2, y =
1

x

3

2

5

2

1

2

58. The area bounded by the curves y = cos x and y = sin x between the

ordinates x = 0 and , is

A.  sq units

B.  sq units

C.  sq units

x =
3π

2

(4√2 − 2)

(4√2 + 2)

(4√2 − 1)

https://dl.doubtnut.com/l/_lHp3Jq0OSDZT
https://dl.doubtnut.com/l/_R7lME7AtGpi8


D.  sq units

Answer: A

Watch Video Solution

(4√2 + 1)

59. Find the area of the region bounded by the curve

.

A. 0

B.  sq units

C.  sq units

D.  sq units

Answer: C

Watch Video Solution

y2 = 4x  and x2 = 4y

32

3

16

3

8

3

https://dl.doubtnut.com/l/_R7lME7AtGpi8
https://dl.doubtnut.com/l/_fCrj6d8yumC0


60. The area bounded by  and the lines  is

A. 1 sq units

B. 2 sq units

C. 3 sq units

D. None of these

Answer: B

Watch Video Solution

y = xe |x | |x| = 1, y = 0

61. The area bounded by the curves  is

A.  sq units

B.  sq units

C.  sq units

D. None of these

y2 = x3 and |y| = 2x

5

16

16

5

3

8

https://dl.doubtnut.com/l/_s9EQpiYVzmD8
https://dl.doubtnut.com/l/_Z3tfMcMNGoyK


Bitsat Archives

Answer: D

Watch Video Solution

62. The area bounded by the curve , x-axis and the ordinates

x=1,x=-1 is given by

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x|x|

1

3

2

3

4
3

https://dl.doubtnut.com/l/_Z3tfMcMNGoyK
https://dl.doubtnut.com/l/_imH8KVVaDkaF


1. The value of  satisfying the equation 


 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x > 1

∫
x

1
t ln tdt =

1

4

√e

e3 / 2

e2

2e − 1

2. If , then the value of k is equal to

A. 12

B. 25

C. 23

∫
25

0

ex− [x ]dx = k(e − 1)

https://dl.doubtnut.com/l/_2b3cN5El31vD
https://dl.doubtnut.com/l/_8hG91U7PEXeZ


D. 24

Answer: B

Watch Video Solution

3. The area bounded by the curves ,

where , is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

y = − √−x and x = − √−y

x, y ≥ 0

1/3

1/4

1/5

1/2

https://dl.doubtnut.com/l/_8hG91U7PEXeZ
https://dl.doubtnut.com/l/_31rUvq8Y3UZu


4. , where [.] denotes the greatest

integer function, is equal to:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
10π

1
([sec− 1 x] + [cot − 1 x])dx

10π − tan− 1 x

8π − sec 1

10π − sec 1

10π + sec 1

5. Determine the area of the figure bounded by two branches of the curve

 and the straight line .

A.  sq units

B.  sq units

C.  sq units

(y − x)
2

= x3 x = 1

4
5

4
7

4
9

https://dl.doubtnut.com/l/_CHWMPeJW2yzx
https://dl.doubtnut.com/l/_LQp1eZvMYph6


D.  sq units

Answer: A

Watch Video Solution

4
11

6.  is equal to

A. 1

B. 0

C. 

D. 

Answer: D

View Text Solution

∫
π / 2

0

dthη
sinn θ

sinn θ + cosn θ

π

2

π

4

7.  is equal to∫
π

0

cos101 xdx

https://dl.doubtnut.com/l/_LQp1eZvMYph6
https://dl.doubtnut.com/l/_YIQTknXVNBGH
https://dl.doubtnut.com/l/_qCdxqWtEKyfu


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

4

1

102

( )
101π

3

0

8.  equals

A. log2

B. 

C. log 6

D. 0

Answer: C

View Text Solution

lim
n→ ∞

[ + + ... + ]
1

n + 1

1

n + 1

1

6n

log(1 + √5)

https://dl.doubtnut.com/l/_qCdxqWtEKyfu
https://dl.doubtnut.com/l/_QQ8GCAyMOS3W


9. If  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

{ϕ(x)} = f(x),  then ∫
2

1

f(x)dx
d

dx

f(1) − f(2)

ϕ(1) − ϕ(2)

f(2) − f(1)

ϕ(2) − ϕ(1)

10.  is equal to

A. 0

B. 1

C. 

∫
2

0
|1 − x|dx

3
2

https://dl.doubtnut.com/l/_QQ8GCAyMOS3W
https://dl.doubtnut.com/l/_D0N8fK2XBopN
https://dl.doubtnut.com/l/_u8gKYSDnzQSr


D. 

Answer: B

View Text Solution

1

2

11. The area bouded by X-axis and the curve y -= sinx and x = 0,  is

A. 1 sq unit

B. 2 sq unit

C. 0

D. 4 sq unit

Answer: B

View Text Solution

x = π

12. ∫
1

0
|5x − 3|dx

https://dl.doubtnut.com/l/_u8gKYSDnzQSr
https://dl.doubtnut.com/l/_JRe9C0ldDFtl
https://dl.doubtnut.com/l/_ODTy9kgoL3VY


A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

10

13

31

10

13

10

13. The area of the region bounded by  and y =1 is

A. 1

B. 2

C. 

D. None

Answer: A

View Text Solution

y = |x − 1|

1/2

https://dl.doubtnut.com/l/_ODTy9kgoL3VY
https://dl.doubtnut.com/l/_lgrWRBcXE7dB


14.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
2

− 1
|x|3

dx

5

4

17

4

15

4

4

5

15.  is equal to

A. 0

B. 1

C. 2

∫
π / 2

−π / 2

sin|x|dx

https://dl.doubtnut.com/l/_lgrWRBcXE7dB
https://dl.doubtnut.com/l/_xCdsaKOiqcHC
https://dl.doubtnut.com/l/_L7qLXLH8GWBW


D. 

Answer: C

Watch Video Solution

π

16. The area (in sq units) of the region bounded by the curve

 is

A. 

B. 

C. 1

D. 2

Answer: B

View Text Solution

2x = y2 − 1 and x = 0

1/3

2/3

https://dl.doubtnut.com/l/_L7qLXLH8GWBW
https://dl.doubtnut.com/l/_ynY8NqC1kXFW


17.  is equal to

A. 17

B. 9

C. 12

D. 18

Answer: A

View Text Solution

∫
8

0
|x − 5|dx

18. If

, then

A. 

B. 

C. 

l1 = ∫
12

0

^ xdx, l2 = ∫
12

0

^ (x3)dx, , l3 = ∫
22

1

^ (x2)dx, l4 = ∫
22

1

^ (x

l3 > l4

l3 = l4

l1 > l2

https://dl.doubtnut.com/l/_iLc7KkrcSfTJ
https://dl.doubtnut.com/l/_cChWJaJPWuod


D. 

Answer: C

View Text Solution

l2 > l1

19. The area of the region satisfying  is

A. 4 sq units

B. 1 sq units

C. 2 sq units

D. None

Answer: C

View Text Solution

x ≤ 2, y ≤ |x| and x ≥ 0

20.  is equal to∫
π / 4

0

log(1 + tanx)dx

https://dl.doubtnut.com/l/_cChWJaJPWuod
https://dl.doubtnut.com/l/_2kp9EELUAjjr
https://dl.doubtnut.com/l/_pWpZJubLWMin


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

loge 2
π

8

log2 e
π

4

loge 2
π

4

loge( )
π

8

1

2

21. The area bounded by the parabola  and the lines x = a and x =

4a, is

A. 

B. 

C. 

D. 

Answer: D

y2 = 4ax

35a2

3

4a2

3

7a2

3

56a2

3

https://dl.doubtnut.com/l/_pWpZJubLWMin
https://dl.doubtnut.com/l/_o3j4NsskzeSW


View Text Solution

22. If , then  is equal to

A. 1

B. 2

C. 4

D. 

Answer: C

Watch Video Solution

∫
x

log  2

=
du

(eu − 1)1 / 2

π

6
ex

−1

23.  (A)  (B)  (C)  (D) 

A. n

B. 2n

∫
2nπ

0

{|sinx| −
∣
∣
∣

sinx
∣
∣
∣
}dx =

1
2

n 2n −2n
1
2

https://dl.doubtnut.com/l/_o3j4NsskzeSW
https://dl.doubtnut.com/l/_XerrmZZM6cmk
https://dl.doubtnut.com/l/_ViiHRlEO7H0x


C. 

D. None

Answer: B

Watch Video Solution

−2n

24. The value of  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

[∫
sin2 θ

0

sin− 1 √ϕdϕ + ∫
cos2 θ

0

cos − 1 √ϕdϕ]

π

π/2

π/3

π/4

https://dl.doubtnut.com/l/_ViiHRlEO7H0x
https://dl.doubtnut.com/l/_kfLe9Osk9AsH


25. The area bounded by the curves  is

A.  sq units

B.  sq units

C.  sq units

D. None of these

Answer: A

View Text Solution

y = x2 and y = 2 − x2

8

3

3/8

3
/

2

https://dl.doubtnut.com/l/_t7otWGJzl8M5

